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	Goal
●
Practise recognizing parasitism, mutualism, and commensalism.


What to Do

Read the following examples of symbiotic relationships between two species. In the space provided, identify each relationship as parasitism, mutualism, or commensalism, and state why you think so.
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1.
Leafcutter ants live in the tropics. They cut the leaves off plants and take 
the leaves to their nests, where they chew up the leaves. They plant fungal
spores on the chewed leaf material. The fungi grow and reproduce, feeding
on the chewed leaf material. The ants and their larvae also feed on the 
chewed leaf material. 



This is an example of ___________________ because _________________________________

_____________________________________________________________________________


2.
Liver fluke worms live inside a sheep’s liver. The worms absorb and use the nutrients that pass through the sheep’s liver. The sheep do not die, but they are weakened because they do not get all the nutrients from the food they eat.



This is an example of ___________________ because _________________________________

_____________________________________________________________________________


3.
The clown fish and sea anemone live together. The sea anemone has poisonous tentacles 
that sting. Because the clown fish is not affected by this poison, it can hide in the anemone’s tentacles. Thus it avoids being eaten by other fish. In return, the clown fish eats the anenome’s waste, including scraps of its food.



This is an example of ___________________ because _________________________________

_____________________________________________________________________________


4.
Because the dodder plant no longer has chlorophyll, it cannot produce its own food. It grows around the branches and stems of another plant, and extends feeding tubes into the other plant. Once the feeding tubes are in place, the dodder plant sucks up the food that the other plant has produced. The other plant is not able to grow as quickly because it is feeding the dodder plant.



This is an example of ___________________ because _________________________________

_____________________________________________________________________________
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